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s=  Hofnf b/ /]6

1 HofdL ;fwf/0f-cbIf_ JolQm÷lbg 640.0 660.0 680

2 s'NnL gfOs]-d]7_ JolQm÷lbg 645.0 665.0 685

3
l;sdL{,8sdL{,gsdL{,jh|sdL{,lrqsf/L,KnDj/,cf/fs;

L JolQm÷lbg 855.0 880.0 900

4 rf}lsbf/ JolQm÷lbg 640.0 660.0 680

5 ;e]{ x]Nk/-c4{bIf_/Nofa Aafo JolQm÷lbg 725.0 745.0 767

6 l8«n/ JolQm÷lbg 680.0 700.0 721

7 laiffbL cf}ifwLsf] sfd ug]{ HofdL JolQm÷lbg 680.0 700.0 721

8 g;{/L gfOs]÷jg x]/fn' JolQm÷dlxgf 13500.0 15000.0 15000

9 OlGhlgo/ JolQm÷lbg 1200.0 1200.0 1265

10 ;j–OlGhlgo/ JolQm÷lbg 940.0 940.0 1005

11 cl;:6]G6 ;j–OlGhlgo/ JolQm÷lbg 887.0 887.0 950

12 ;'k/efOh/ ;fdfGo -P;=Pn=;L=pQL0f{_ JolQm÷lbg 887.0 887.0 950

14 gflk sfdbf/ -bIf_ JolQm÷lbg 680.0 700.0 765

15 Anfi6/ JolQm÷lbg 855.0 880.0 940

16 8f]h/ ck/]6/ JolQm÷lbg 995.0 1025.0 1090

17 8f]h/ x]Nk/ JolQm÷lbg 650.0 670.0 735

18 :6fkm d]g JolQm÷lbg 680.0 700.0 735

19 /]lGhË d]g JolQm÷lbg 680.0 700.0 735

20 On]lS6«l;og-xfp; jfol/Ë ug]{_ JolQm÷lbg 855.0 880.0 945

21 xfO6]G;g÷nf]6]FG;g÷cf]e/x]8df sfd ug]{ bIf ld:qL JolQm÷lbg 855.0 880.0 945

22 d]t/ JolQm÷lbg 665.0 685.0 750

23 el/of JolQm÷lbg 665.0 685.0 750

24 b'/L ;+ef/ stf{ JolQm÷lbg 640.0 670.0 735

25 ljB't bIf JolQm÷lbg 855.0 880.0 945

26 ljB't c4{bIf JolQm÷lbg 665.0 685.0 750

27 l;lgo/ d]sflgS; JolQm÷lbg 855.0 880.0 945

28 xn'sf ;jf/L rfns JolQm÷lbg 730.0 750.0 815

29 ef/L ;jf/L rfns JolQm÷lbg 795.0 820.0 885

30 SofDk js{/ JolQm÷lbg 640.0 660.0 725

31 :ofDkn/÷6g]n JolQm÷lbg 640.0 660.0 725

32 dfOlgË ;e]{ x]Nk/ JolQm÷lbg 640.0 660.0 725

33 ;e]{Ifs JolQm÷lbg 940.0 940.0 1005

34 cldg JolQm÷lbg 887.0 887.0 950
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b. 9'jfgL b/ /]6

1 6«saf6 lkr af6f]df 9'jfgL-;lhnf] ;fdfg_ SjL=÷ls=dL= 2.2 2.2 2.4

2 6«saf6 lkr af6f]df 9'jfgL-c;lhnf] ;fdfg_ SjL=÷ls=dL= 2.9 2.9 3.1

3 6«saf6 sRrL af6f]df 9'jfgL-;lhnf] ;fdfg_ SjL=÷ls=dL= 3.1 3.1 3.4

4 6«saf6 sRrL af6f]df 9'jfgL-c;lhnf] ;fdfg_ SjL=÷ls=dL= 3.7 3.7 4.1

5 6}«S6/af6 lkr af6f]df 9'jfgL-;lhnf] ;fdfg_ SjL=÷ls=dL= 2.4 2.4 2.7

6 6}«S6/af6 lkr af6f]df 9'jfgL-c;lhnf] ;fdfg_ SjL=÷ls=dL= 3.7 3.7 4.1

7 6}«S6/af6 sRrL af6f]df 9'jfgL-;lhnf] ;fdfg_ SjL=÷ls=dL= 3.4 3.4 3.7

8 6}«S6/af6 sRrL af6f]df 9'jfgL-c;lhnf] ;fdfg_ SjL=÷ls=dL= 4.1 4.1 4.5

9
6}«S6/af6 lkr af6f]df 9'jfgL- lh cfO tyf Pr l8 

kL kfOk tyf Uofljg hfnL _ SjL=÷ls=dL= 15.0 15.0
16.5

10
6}«S6/af6 sRrL af6f]df 9'jfgL-lh cfO tyf Pr 

l8 kL kfOk tyf Uofljg hfnL_ SjL=÷ls=dL= 21.3 21.3
23.4

11
6}«S6/af6 lkr af6f]df 9'jfgL-  Pr l8 kL kfOk 

^# Pd Pd eGbf d'lg_ SjL=÷ls=dL= 16.5 16.5
18.2

12
6}«S6/af6 sRrL af6f]df 9'jfgL-  Pr l8 kL kfOk 

^# Pd Pd eGbf d'lg_ SjL=÷ls=dL= 23.1 23.1
25.4

13 k}bn ;lhnf] ;fdfg 9'jfgL s]=hL=÷sf]if 3.4 3.4 3.7

14 k}bn c;lhnf] ;fdfg 9'jfgL s]=hL=÷sf]if 4.3 4.3 4.7

15 Xo'd kfOk 9'jfgL

) b]lv %) ls= dL= b'/L ;Ddsf]
!% k|ltzt vl/b 

d'Nosf]

!% k|ltzt vl/b 

d'Nosf]

%) b]lv !)) ls= dL= b'/L ;Ddsf]
20 k|ltzt vl/b 

d'Nosf]

20 k|ltzt vl/b 

d'Nosf]

!)) b]lv @)) ls= dL= b'/L ;Ddsf]
25 k|ltzt vl/b 

d'Nosf]

25 k|ltzt vl/b 

d'Nosf]

200 b]lv #)) ls= dL= b'/L ;Ddsf]
#) k|ltzt vl/b 

d'Nosf]

#) k|ltzt vl/b 

d'Nosf]

16 lj6'ldg !^% s]=hL= 6«sdf nf]8 k|lt 8«d 61.0 61.0 61.0

17 lj6'ldg !^% s]=hL= 6«sdf cgnf]8 k|lt 8«d 38.0 38.0 38.0

18 l;d]G6sf] af]/f nf]8÷cgnf]8 af]/f 9.5 9.5 7.0

19 kf]n 9'jfgL

19.1 *–( ld6/ nfdf] sf7 jf l:6nsf] kf]n 9'jfgL
uf]6f÷ls=dL= 23.5 23.5 15.0

19.2 *–( ld6/ nfdf] lk=P;=l; -cf/=l;=l;_ kf]n 9"jfgL
uf]6f÷ls=dL= 28.5 28.5 16.0

19.3 !)–!! ld6/ nfdf] l:6nsf]  kf]n 9'jfgL
uf]6f÷ls=dL= 24.5 24.5 17.0

19.4  s+lqm6 ldS;/ -lnkm\6 ePsf]_
k|lt 306f 800.0 800.0 800.0

19.5  s+lqm6 ldS;/ -lnkm\6 gePsf]_
k|lt 306f 700.0 700.0 700.0

19=4 ^«fG;km{/d/ ("jfgL uf]^f÷ls=dL 500

19=4=1 11 s]=le= ^«fG;km{/d/ nf]* uf]^f 2100
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19=4=2 11 s]=le= ^«fG;km{/d/ cgnf]* uf]^f 2100

19=4=3 33 s]=le= ^«fG;km{/d/ nf]* uf]^f 3000

19=4=4 33 s]=le= ^«fG;km{/d/ cgnf]* uf]^f 3000

19=5 lk=P;=l;= -cf/=l;=l;_

19=5=1 lk=P;=l;= kf]n nf]* uf]^f 230

19=5=2 lk=P;=l;= kf]n cgnf]* uf]^f 230

19=6 :^Ln ^\o'a"n/ kf]n

19=6=1 :^Ln ^\o'a"n/ kf]n nf]* uf]^f 89

19=6=2 :^Ln ^\o'a"n/ kf]n cgnf]* uf]^f 89

19=7 P=l;=P;=cf/= tf/

19=7=1 P=l;=P;=cf/= tf/ nf]* ÷ls=dL= 400

19=7=2 P=l;=P;=cf/= tf/ cgnf]* ÷ls=dL= 350


